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< > RATIONAL EXPRESSIONS Answers

= 6 — 7 2 f(X) - 3 _ X+9
(x+3)(x—-3) (2x+1)(x-73) 2x+3  (2x+3)(x+4)

= 6(@2x+D)-7(x+3) _ 5x—-15 — 3(X+4)-(x+9)
(x+3)(x=3)(2x+1) (x+3)(x=3)(2x+1) (2x+3)(x+4)

- 5(x-73) — 5 - 2x+3 -1
(x+3)(x—3)(2x+1) (x+3)(2x+1) (2x+3)(x+4) X+4

3 a=-t -2 - (x46-2 4 a f(5)=250-125-115-10=0
X—6 (x+6)(x—6) (x—6)(x+6)
_ X+4 . _ .
TR - (x—5) isafactor of f(x)

b x+4  _1 b 2¢ + Bx+ 2
(x-6)(x+6) 2 x-5)2x — 5X —23x — 10
2(x+4)=x*-36 2¢ — 10¢°
X’ —2x-44=0 5X° — 23X
w= 2EVA+176 _ 265 _ 35 5x° — 25x

2 2 2x - 10

2x - 10

o F(X) = (x—5)(2¢ + 5x + 2)
=(X=-5(2x+1)(x+2)

f(x) - (X=5)(2x+D(x+2)
T 2x2-9x-5 (2x+1)(x-5)
=X+2
X+6 _'_x—p:0 6 -1 3x _ 1
(x+3)(x+6)  x+7 3x-1  (3x-12  x(3x-1
B — _ X(3x—1) -3 -(3x-1)
(x+7)+(x-p)(x+3)=0 N
- 1-4x
X+ (4-p)x+7-3p=0 =
real, equal roots .. b®—4ac=0
(4-p*-4(7-3p) =0
p’+4p-12=0
(p+6)(p-2) =0
p=-6,2
7 _ T(x+2) _ 7 8 q 1_ 1 _ 4 1
2+x(2-x) 2-x 2 t-2 t’-2 2
i = 2x-T7)(x+4) — 2x-7 24 +i -1
3X(X+4) 3x te-2t t-2
b 7 2x=7 b 4 + 1 =1
2—-Xx 3x tt-2) t-2
21x=(2-X)(2x-7) 4+t=t"-2t
X +5x+7=0 t?—3t-4=0
b’ - 4ac=25-28=-3 (t+1)(t-4)=0
b?—4ac<0 .. norea roots t=-1,4

but if t = 4, common difference=0
st=-1, firstterm= —3
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